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1. Question number 1 is compulsory.

2. Solve any three questions out of the remaining five questions
3. Assume suitable data if necessary

4. Figure indicate marks

Q1. A. A mobile communication system is allocated RF spectrum of 25 MHz and uses RF [10]
channel bandwidth of 25 KHz so that total number of 1000 voice channels can be
supported in the system.
a) If the service area is divided into 20 cells with a frequency reuse factor of 4,
compute the system capacity.
b) The cell size is reduced to the extent that the service area is now covered with 100
cells. Compute the system while keeping the frequency reuse factor as 4.
¢) Consider the cell size is further reduced to that the service area is now covered with
700 cells with the frequency reuse factor of 7. Compute the system capacity. I
B. Explain in detail EDGE Network Architecture with neat diagram. [10]
Q2. A. Explain in detail GPRS Architecture with neat diagram. [10]
B. Explain in detail CDMA Architecture with neat diagram. [10]
Q3. A. Give in detail comparison between WiMax and LTE/3GPP. [10]
B. Explain in detail Bluetooth Protocol Stack with neat diagram. [10]
Q4. A. Neatly explain the WLL Architecture. Explain the two local loop techniques [10]
with diagram
B. Explain in detail GSM Privacy and Authentication with neat diagram. [10]
Q5. A. Explain the main factors of change in economics of wireless technology. [10]
B. Explain the Wired Equivalent Privacy Protocol. Also explain WEP security based on [10]
the access control list with neat diagram.
Q6. Write short notes: [20]
a. Compare CDMA 2000 & W-CDMA
b. Mobile IP.
c. IEEE 802.11 standards.
d.

Wireless Sensor Network. i\
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1) Question no. 1 is compulsory.

.
.

Note

2) Attempt any three from remaining five que

3) Assume suitable data, if necessary.

a.

What are advantages and limitations

b.

Differentiate between cloud and t

C.

d.

d.

2.

b.

10
10
10

What is virtualization

a.

3.

b.
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N.B. (1) Question No.!l is compulsory.
(2) Out of remaining attempl any three.
(3) Assume suitable data wherever required.
(4) Figures to right indicates full marks.

1. Solve any [Four}:

a) What is outsourcing? What are its advantages and disadvantages? (5]
b)  Explain the need of project management, (5]
c) Give the difference between product oriented deliverables and project oriented
deliverables. [5]
d)  What s relation between MOV, Scope and WBS? _ (5]
e) What is project charter? [5]
2 a) Explain the following terms: [10]
i.  Project

ii.  Critical Path
iii.  Earned Value
iv.  Scope Creep

v.  Scope Leap

b) Explain PMBOK Knowledge Areas. [10]
3. a) [10]
A - 3
B A(FS2) 2
(i A(SS) 2
D B(SS1) 4
E C(SF3) 1
F C(FF3) 2
G D(SSI) B 4
H F(SF2), G 3
- a) Draw Precedence Diagram.
b) Perform Forward and backward path calculations.
¢)- Find Critical Path.
b) Explain the phases of project life cycle and compare it with SDLC. [10]
TURN OVER
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b)

a)
b)

Q.P. Code : 633601

Discuss the statement: “Failing to define what not part of the project is just as
important as failing to define what is part of the project.

What is project team? Explain multidisciplinary and multicultural teams.

Explain work breakdown structure with example. How does it map to the

DDT and DSC.

What is the cost benefit analysis in projects? List the steps for performing costs
benefit analysis,

What is the role of implementation plan? Explain the various leadership styles.

Choose a company that sells electronic products /services on the web. Using
this website as a guide develop scope statement. (Make suitable assumptions).
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